QON‘ ECT Q-N10S ltem code: 03QNI10S

POS. ID Item code Description Quantity
1 04P0005402 Anvil M6 1
2 04P0005201 Locknut 5
3 04A0000803 Mandrel M6 1
4 04P0005701 Steel cable ring 1
5 04P0005901 Sheath 1
6 04S0001300 O-ring 20/1,8 1
7 04P0026300 Pedestal 1
8 04P0025701 Hexagon sleeve 1
9 04P0006003 Anti-loose screw 1
10 0450000700 Spring 1
1l 04P0008102 Tight nut 1
12 0450000600 Return spring 1
13 04P0006201 Pressure nut 1
14 04P0000602 Pin 4
15 04A0001501 Front body 1
16 04F40010 Hexagon nut M8 4
17 04P0000703 Double-screw bolt 2
18 04121923 Lever 2
19 04P0001202 Connect plate 6
20 0450000500 Spring 1
21 04P0006601 Key 1
22 04P0006702 Adjusting nut 1
23 04B01895 Label 1
24 04A0001402 Rear body 1
25 04P0007002 Mandrel 1
26 04P0007202 Connecting nut 1
27 04A0001702 Spin 1
28 04P0015200 Buckle 1
29 04121924 Lever cover 2
30 04120959 Left handle sleeve RAL5018 1

1-3 qonnect-fasteners.com



QOMNECT

POS. ID

31

32

33

34

35

36

37

38

39

40

41

42

Item code

04120958

04P0011701

04P0005302

04P0005502

04P0005602

04A0003802

04A0000703

04A0000902

04A0001002

04A0001102

04A0001202

04A0001302

Q-NI10S

Description

Right handle sleeve RAL9005

Anvil complete M4
Anvil complete M5
Anvil complete M8
Anvil complete M10
Mandrel M4
Mandrel M5
Mandrel M8
Mandrel M10
Rivetbolt puller M5
Rivetbolt puller M6

Rivetbolt puller M8

Item code: 03QN10S

Quantity

1

qonnect-fasteners.com



QON‘ ECT Q-NI10S ltem code: 03QN10S

2

3-3 qonnect-fasteners.com



